® V20

G Vi5

@ 6



Ao

flo

2. HEFH

O Vi-V3-V2=1+2
@ 0.02x V2 =0.2

® V6+ Vi= V10
L
@3\/§><\/1_T\/§—6\/§

® 242 + V18 — V50 = —24/30



(4+30)(2t-2) = | 2 - |

Sol7le gure 552 g2 Fafolzt

YEE
2%



o]

A AL (3x-4)2-2(x-3)2 = 02 x2 ] Al7H 7 ax® +bx+c =0
o e g W, ac— b ©] 24 Pl

e =
c



5.

x2-3x+1=ax2+bxo]o
Totoleh(H, a, b = 350l

e =
-

_u

rr

o)
filo



HE 2= 2

lo
go

=

rlo

m

rlo

(7h y = —»?

() y= 252 +4

(Fh y=2(x-1)*
() y =3
(MHy=3(x+2)?2-1

@ (Wh-(=H-(=h-("hH-("hH
@ (=hH-(H-(=h-(=h-(7h







@ y=-x>+x+3

@ y=2(x-12+3

@ y=-3(x+2)2+3

®y=-(x-3)2+1

® y=—%(x+3)2—3



2 452 248 Yeh
29 7|48 Fotolet

A= o,

1
m, T, ‘/2_— \/3, \/_, —‘/5

YER gl



10.



11.

3V5 - V20 - 2 V45 & HF2A] A4 2127

® -2v5 @ -3+5
@ —55 ® -6+5

® -4+5



12, o2 JeA Atthe]Ee] Wole?

© 2V6+3 @ 3V6+3
® 4v2+3 @ 5v2+3
® 6v2+3




O x*=38 © 3x2-12=0
© (x-3)2=4 @ 2(x+1)2=6

@ 3x2-6x+3=0

© 0,0 @ ©,6 ® 0,66
® ©, e, o ® O, e, O




7t (-2, m)

2~
T

® -10 @ -12 ® -14

® -8



15. x> —4x—A=(x+5)(x—-B) oIX A+ B9 ZF2?

D 6 ® 9 A 20 @ 49 B 54



16. T2 Aol FAFAL W, 4 a 9|

(x4+2)(x+4)(x+5)(x+T7)+a







18. PEEA %2 - (k-2)x +4 = 0 0] T2 712 9] k 9] gho]

0] % Al
O|ZFLAGA ¥ +ax+b =02 F L W, a+ b & G2 Skt

acr:



olJ
ol
or
.
W
or

(=}

2

2
+rx— 5=

5

1
107"

ol A 4]

19.

® 5

@ 4



20.

OIRPIAHA 252 4 4x+ 36 =0 ] T 29 ¥k 1:3 A W, k o] g
Fofoat.

=g
=¥

ftlo



2, 55t Hgjo]
-stofet,
=

o= X——'T, Y%Q’]



22. OAWSy =22 4 2ax +b7bx =3 o0M HEG 102 7Fd W a, b
o] g& Fsfolel.






)

—_
ife)

5

Fotofet,

o
=

7V 2 el g



25, TS ZEA y=x2-2x-3 9 HAHS A=t
5, x &9 nH-ES B, C 2 o, AABO
o] yo]=?
® 16 @ 8 ® 12
@ 6 ® 10




